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Chapter 1 

1.  Perform the indicated operations.  
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2. The perimeter of a rectangle is given by the formula P = 2(L + W), where L is the length and W is the 

width of the rectangle. Find the perimeter if L = 5.4 feet and W = 3.7 feet. 

 

 

 

3. Evaluate the expression 
| | | |
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x y

x y

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 when x = –1.5 and y = –0.75. 

 

 

 



4. Multiply 
2 3(2 3 )( 5 )x xy y x y   . 

 

 

 

 

 

 

5. Perform the indicated operations and simplify the expression 2 2 2( 2 )[( ) ( ) ]x y x y x y    . 

 

 

 

 

 

 

 

 

 

Answers: 

1. (a) 
4

3
 (b) 

7

26
   

2. 18.2 feet 

3. 
36

35
 

4. 
3 2 2 3 42 7 15 5x x y xy xy y     

5. 
3 24 8x y xy  


